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a) def max_pos

‘ megisto = self.poliseis[0]
i in self.poliseis:
i > megisto:
megisto =i
return megisto
B) politis1 = Politis("lwavva Kwvotavtivou", [10000, 15000, 5000, 20000])

y) x = politisl.max_poso()

print x
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def YPOLOGISMOS(mathites):
kostos =mathites*4.0

return kostos

synolika_esoda=0
sinol_math =0

math_pepal =0

for imera in range(5):
for sxoleio in range(4):
onoma = input("Awoe ovopa ocxoAeiov")
typos = input("Awoe tumo oxoAeiov")
plithos = int(input("Awoe aplBuoc padntwyv "))
while plithos < 20 or plithos > 50:
print("Mpoonabnos Zava! ")

plithos = int(input("Awoe aplBuog pabntwv "))

kostos = YPOLOGISMOS(plithos)



print("Kootocg ewottnpiwv:", kostos)

synolika_esoda = synolika_esoda + kostos

sinol_math = sinol_math+ plithos

if typos == "MEMAA":
math_pepal = math_pepal + plithos
print("ZuvoAika €coda:", synolika_esoda)
pososto = (math_pepal / sinol_math) * 100

print("Moocootd pabntwv NEMNAA: ", pososto, "%")

OEMA A
KOD = []
SB =]

ANS = [IIaII, Ildll' Ilbll' Ilbll’ Ilall’ IICII’ Ildll, Ilall, Ilbll, IICII]

foriin range(300):
kodikos = input("Awoe kwbikd umoPndiou: ")
KOD.append(kodikos)
vathmos =0
forjin range(10):
apantisi = input("Andvtnon epwtnong " +str(j+ 1) +": ")

if apantisi == ANSJj]:



vathmos = vathmos + 5

SB.append(vathmos)

foriin range(300):
if SB[i] > 30:

print("Kwdwog:", KODIi])

foriin range(299):
for jin range(299 - i):
if SB[j] < SB[j + 1]:
temp1 = SBJj]
SB[j] = SB[j + 1]
SB[j + 1] = templ
temp2 = KOD[j]
KOD[j] = KOD[j + 1]
KODJj + 1] = temp2
f = open("lang.txt", "w"
foriin range(300):
f.write(KOD[i] + " " + str(SB[i]) + "\n")

f.close()




